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1 In the year 2000 China will still be a powerfully............. and peasant country.
A. Ancient
B. Agricultural
C. Scientific
D. Mechanized

2 Their system even manages partly to.................. the population of the cites.
A. Increase
B. Gather
C. Reduce
D. Settle

3 Political control over the masses has stopped the................. from the contryside.
A. Incoming
B. Setting
C. Staying
D. Exodus

4 Chinese do not have the ............... fevers of money, alcohol and sex.
A. Three
B. Four
C. Five
D. Six

5 Chinese cities show an absence of .......................... which is neither back wardens nor delay.
A. Women
B. Markets
C. Automobiles
D. Cinemas

6 the Chinese model cannot be analyzed according to its difference from the ............. system
A. Eastern
B. Southern
C. Western
D. Northern

7 Four years the Chinese have been striving to make the world realize that there are other
important things in life besides an increase in ...........

A. Export
B. Import
C. GNP
D. Agriculture

8 The gigantic Chinese social experiment does not only concern Asia but the
............................ too.

A. West
B. East
C. South
D. North

9 Chiness have addressed the problem of the blind................... the cities.
A. Assumption
B. Expansion
C. Exemption
D. Impression

10 The ascetic militant Chinese have gone straight to the................... of the problems.
A. Routes
B. Ruts
C. Roots
D. Rivets

11 In China the individual has been rescued from the aftermath of this unfortunate.............
A. Image
B. Sewage
C. Heritage
D. Cleavage

12 China was forced into a kind of national.....................
A. Schizophrenia
B. Decomposition
C. Paralysis
D. Typhoid

13 Russia never suffered .............. fate of such a sharp and pervasive Western impact.
A. Britain's
B. China's
C. France's
D. America's

14 Vast majority of the country carried on as it had been doing for the past........... year.

A. 100

B. 1000
C. 2000
D. 4000

15 The communists came to power in.....................
A. 1649
B. 1949
C. 2049
D. 1849



16 Westerners have forgotten the ................ background and painful colonial history of China.
A. European
B. Austrailian
C. African
D. Aslatic

17 Every where politicians are attempting to rebuild for themselves a compromised career by
singing the praises of...........

A. Mao Tse-Tung
B. sun Yatsen
C. Chou En -Lai
D. Xan Xing

18 China is now......... around the world and in no uncertain terms.
A. Folly
B. Finery
C. Fashion
D. Foppery

19 The countries feel now the political guilt complex for having kept China out of the ...............
for a long time.

A. U.N
B. Ocean
C. Sea
D. Land

20 The queue of ............. on the waiting list to recognize the People's Republics of China is
growing.

A. Towns
B. Cities
C. Countries
D. Markets


